1. REFERITINR (FH4FT11R D)

xtbAE | XtRs xS AEH &8 (M)
11H4H BEH | SREIEE BmmEBRE0i(TER) 3,500
1MA7H PR |RTRE REFEE-SHRAOHR(FE) 5,000
11R168 =H | RAERRSRARERLORRRBRZON(ZE) 6,000
11HB228 =5 | LEESTERRSRERRBREOR(ZE) 8,000
1MA25H | Zoft |[SHRESEADFLE 6,000
11H28H BRL |RMBE RREFE - SHIROH(FH) 5,000
11H308 =8 |TREERERRKEN LmARROM(ZE) 4,000

a 3 37,500




2. % FH(PH4FER)

bRy | H(ERY) | REHER | 2EERD) | RE#
= = 3 15 18,000 73,000
- i 1 15 3,500 84,000
B & 2 13 10,000 228,950
8 & W 0 0 0 0
B & 0 0 0 0
O 0 7 0 85,800
T D 1 17 6,000 172,930
a 5 7 67 37,500 | 644,680




